Here Comes The Sun — The Beatles (G)

Intro: G % C D7 G % C D7...
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Chorus :

G % C A7
Here comes the_ sun, doo-doo-doo-doo__, here comes the_ sun__
G | C... G.. Am7...| G... / D7... |
andI_ say__ , it's al_-right| o _—_____ 0o O | —0mmmm— e O — e
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G % C D7
Li-ttle dar_-lin', it's__ been__ a long, cold, lo_-nely win_-ter
G % C D7
Li-ttle dar_-lin', it feels__ li_ke years__ sin_ceit's_ been_ he_re
Chorus... + Interlude: G D7
N —— 2-———0--2-————- T 0-—————— |
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G % C D7
Li-ttle dar_-lin', the smi__ le's re-tur__-ning to the fa_-ces
G % C D7
Li-ttle dar_-lin', it see__ms li_ke years__ sin_-ceit's been he__re
Chorus... + Interlude: G D7\ \ / NC.
N —— 2-———0--2-————- | mmm - 0-|
o [T — 3 0-|-2--2———————————— 2-———|
Cl-————————m—m | ——— - 2--————-

Bridge : Bb. > F... > C... | NC. G D7\ \ / NC.
Al-———-—-——- | ————————- | - = - | —2-——— - | ———m - 0-|
E|--—-—-- 1--|--—-——- 1-|---—--- 0----—--—- I e e e e | mmmmm - 2-———|
Cl-——-2-———- | —===0-———|-===0———————— 0—|-2-—————— [T  JE——
G| -3-—----—- | =2-———--~ | =0————-——~ R I | == \
[ Bb... > F.. > C.. G D7\\ / NC. ] (x4

Sun_, sun, sun, here it co__mes
Bb... > F... > C... G
Sun_, sun, sun, here it co__mes
Interlude : D7 % % D7\ \
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G % C D7
Li-ttle dar_-lin', I feel_ that ice is slow_-ly mel_-ting
G % C D7
Li-ttle dar_-lin', it see__ms li_ke years__ sin_-ceit's been «clea_ r
Chorus...
Chorus2: G %
Here comes the_ sun, doo-doo-doo-doo__,
c A7 G |C... > G.. > Am7...|G... / D7...|
Here comes the_ sun__, it's al_-right
G |C... > G.. > Am7...|G... / DT... |
It's al_-right
Qutro: Bb F... C... | NC. G...
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